Equal 16 step grey scaling betweeld* \, and L*, for three reflections of ambient light

No ambient reflection Yy=0, L*\=0

Ambient reflection Yy=2,5,L*\=18

Ambient reflection Yy=40, L*\=70

L* lightness differenceAL* =6,3 lightness differenceAL*=5,1 lightness differenceAL*=1,7
100 no. w*  we L¥jp Lfpe Alfre N0 WF WA L¥jp Lfpe Al%pe N0 W¢ WA L¥jp L*pe Al%pe
16 10 10 954 954 16 10 10 954 954 16 10 10 ~ 954 954
O O 6.16 o 15 0982 0933 936 920 337
6.35 ) 1 64 0866 919 888 J9f
15 0933 0033 890 800 100045 0833 902 802 $0%R 07 ME 81 272
635 o 11 091 0666 868 807 591
14 0891 0866 850 83.0 10 0832 06 81 784 141
14 0866 0.866 826 82.6 6.11 H 4 0533 834 768 167
80 6.35 13 0837 0799 799 76.9 7 083 0399 799 734 11,
6.06 6 08 0333 782 123 4
13 08 08 763 763 5 0802 0286 765 712 O
12 0783 0733 747 70.9 2 0781 0199 748 107 997
so 3 R R B1 U R
12 0733 0733 699 69.9 11 0729 0.666 69.6 64.9 1 00~ 696 696 027
6.35 5.94
11 0666 0666 63.6 63.6 10 0675 0599 64.4 58.9 o
60 635 @ 9 o621 0533 592 531
® 10 06 06 572 57.2 571
635 @ 8 0567 0466 54.1 473
® 9 0533 0533 508 508 553
635 ® 7 0513 04 489 418
5.26
® 8 0466 0466 445 445 @® 6 0459 0333 438 365
40- 6.35 4.89
®7 04 o4 381 381 @® 5 0405 0266 386 316
6.35 4.37
@ 2 0351 0199 334 273
@ 6 0333 0333 318 318 266
635 @ 3 0296 0133 283 236
. 5 0.266 0.266 254 25.4 281
635 @ 2 0242 0086 231 208
- 2.83
20T @4 o0z 02 190 190 @ 1 0188 00 180 180
6.35
@ 3 0133 0133 127 127 ISO/CIE 11664-4: L*j; = intended CIELAB lightness of output
6.35 ; - )
|EC 61966-2-1: w*, is approximately proportional to L*
@ 2 0066 0066 63 63 SRGBIS app! 'y prop
6.35 WrsRGR= L*/95,4; w = [L*-L* N1 / [L*\w-L* N]
O- @1 o0 00 00 o0 . X . o
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